

Second Hankel Determinant for Strongly Bi-Starlike of order α

Chow Li Yong

*Faculty of Science and Natural Resources,
Universiti Malaysia Sabah,
88400 Kota Kinabalu, Sabah, Malaysia.*

Aini Janteng

*Faculty of Science and Natural Resources,
Universiti Malaysia Sabah,
88400 Kota Kinabalu, Sabah, Malaysia.*

Suzeini Abd. Halim

*Institute of Mathematical Sciences,
Universiti Malaya, 50603 Kuala Lumpur, Malaysia.*

Abstract

Let A denote the class of functions $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ which are analytic in the open unit disc $U = \{z : |z| < 1\}$. Let S denote the class of all functions in A that are univalent in U . A function $f \in A$ is said to be bi-univalent in U if both f and f^{-1} are univalent in U . Let Σ denote the class of bi-univalent functions in U . In this paper, we obtained the upper bounds for the second Hankel functional $|a_2 a_4 - a_3^2|$ for strongly bi-starlike of order α .

AMS subject classification: 05C78.

Keywords: Analytic, Bi-univalent, second Hankel determinant, upper bound.

1. Introduction

Let A denote the family of analytic functions in the open unit disk $U = \{z \in \mathbb{C} : |z| < 1\}$ and S be the class of functions $f \in A$ that are univalent in U and normalized by

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (z \in U). \quad (1.1)$$

The Koebe one-quarter theorem [7] ensures that the image of U under every $f \in S$ contains a disk of radius $1/4$. Thus, every $f \in S$ has an inverse function f^{-1} satisfying $f^{-1}(f(z)) = z$ ($z \in U$) and $f(f^{-1}(w)) = w$ ($|w| < r_0(f)$; $r_0(f) \geq 1/4$), where

$$f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2 a_3 + a_4)w^4 + \dots \quad (1.2)$$

A function $f \in A$ is said to be bi-univalent in U if both $f(z)$ and $f^{-1}(z)$ are univalent in U . Let Σ denote the class of bi-univalent functions in U given by (1.1). The concept of bi-univalent functions was introduced by Lewin [11] in 1967 and he showed that $|a_2| < 1.51$. Subsequently, Brannan and Clunie [2] improved the result to $|a_2| \leq \sqrt{2}$ for $f \in \Sigma$.

The study of bi-univalent functions was investigated by several authors. They proved the results on coefficient estimates for the initial coefficient $|a_2|, |a_3|$ and $|a_4|$ ([1], [5], [9], [10], [15]). However, the coefficient estimate for various subclasses of Σ are nonsharp, therefore coefficient estimate problem for each of $|a_n|$ is still an open problem.

In 1976, Noonan and Thomas [13] defined q -th Hankel determinants of f for $q \geq 1$ and $n \geq 1$ which is defined by

$$H_q(n) = \begin{vmatrix} a_n & a_{n+1} & \dots & a_{n+q-1} \\ a_{n+1} & a_{n+2} & \dots & a_{n+q} \\ \vdots & \vdots & \ddots & \vdots \\ a_{n+q-1} & a_{n+q} & \dots & a_{n+2q-2} \end{vmatrix} \quad (a_1 = 1)$$

This determinant was discussed by several authors with $q = 2$. For case $q = 2$ and $n = 1$, the functional is well known as Fekete-Szego functional, $H_2(1) = a_3 - a_2^2$ and one usually considers the further generalized functional $a_3 - \mu a_2^2$ where μ is some real number, (see [8]). Estimating for the upper bound of $|a_3 - \mu a_2^2|$ is known as the Fekete-Szego problem. Recently, Orhan *et al.* [14] and Zaprawa ([16],[17]) studied the Fekete-Szego problem for some classes of bi-univalent functions.

The second Hankel determinant $H_2(2)$ is given by $H_2(2) = a_2 a_4 - a_3^2$. Recently, the upper bound for the functional $H_2(2) = a_2 a_4 - a_3^2$ for the subclasses of Σ are found, see ([4] and [6]). The object of the present paper is to seek the upper bound for the functional $|a_2 a_4 - a_3^2|$ for $f \in S_{\Sigma}^*(\alpha)$ which is defined as follows.

Definition 1.1. [3] A function $f(z)$ given by (1.1) belongs to the class $S_{\Sigma}^*(\alpha)$ with $0 < \alpha \leq 1$, if it satisfies the following conditions:

$$f \in \Sigma \text{ and } \left| \arg \left(\frac{zf'(z)}{f(z)} \right) \right| < \frac{\alpha\pi}{2}, z \in U$$

and

$$g \in \Sigma \text{ and } \left| \arg \left(\frac{wg'(w)}{g(w)} \right) \right| < \frac{\alpha\pi}{2}, w \in U$$

where $g(w) = f^{-1}(w)$ as in (1.2).

For special case, when $\alpha = 0$, we have

$$S_{\Sigma}^*(\alpha) = S_{\Sigma}^*(0) = S_{\Sigma}^*$$

which known as bi-starlike functions.

2. Preliminary Result

Let P be the family of all functions p analytic in U for which $Re(p(z)) > 0$ and

$$p(z) = 1 + c_1z + c_2z^2 + \dots \tag{2.3}$$

for $z \in U$.

Lemma 2.1. [7] If $p \in P$ then $|c_k| \leq 2$ for each k .

Lemma 2.2. [12] If the function $p \in P$ is given as $p(z) = 1 + \sum_{n=1}^{\infty} c_n z^n$, then

$$2c_2 = c_1^2 + x(4 - c_1^2), \tag{2.4}$$

$$4c_3 = c_1^3 + 2(4 - c_1^2)c_1x - c_1(4 - c_1^2)x^2 + 2(4 - c_1^2)(1 - |x|^2)\zeta \tag{2.5}$$

for some complex value x with $|x| \leq 1$ and some complex value ζ with $|\zeta| \leq 1$.

3. Main Result

The main result for the functions $f \in S_{\Sigma}^*(\alpha)$ is stated as follows

Theorem 3.1. Let the function $f(z)$ given by (1.1) be in the class $S_{\Sigma}^*(\alpha)$ with $0 < \alpha \leq 1$. Then

$$|a_2a_4 - a_3^2| = \begin{cases} \alpha^2, & 0 < \alpha \leq \frac{1}{7} \\ \frac{\alpha^2(7\alpha^2 - 28\alpha)}{56\alpha^2 - 42\alpha + 1}, & \frac{1}{7} \leq \alpha \leq \frac{21 + \sqrt{889}}{112} \\ \frac{\alpha^2(56\alpha^2 + 4)}{9}, & \frac{21 + \sqrt{889}}{112} \leq \alpha \leq 1. \end{cases} \tag{3.6}$$

Proof. Let $f \in S_{\Sigma}^*(\alpha)$, $0 < \alpha \leq 1$ and $g = f^{-1}$. Then

$$\frac{zf'(z)}{f(z)} = [p(z)]^{\alpha} \quad \text{and} \quad \frac{wg'(w)}{g(w)} = [q(w)]^{\alpha} \quad (3.7)$$

where $p, q \in P$ and defined by $p(z) = 1 + p_1z + p_2z^2 + p_3z^3 + \dots$ and $q(z) = 1 + q_1z + q_2z^2 + q_3z^3 + \dots$.

Now, upon equating the coefficients in (3.7), we have

$$a_2 = \alpha p_1 \quad (3.8)$$

$$2a_3 - a_2^2 = \alpha p_2 + \frac{\alpha(\alpha - 1)}{2} p_1^2 \quad (3.9)$$

$$3a_4 + a_2^3 - 3a_2a_3 = \alpha p_3 + \alpha(\alpha - 1)p_1p_2 + \frac{\alpha(\alpha - 1)(\alpha - 2)}{6} p_1^3 \quad (3.10)$$

and

$$-a_2 = \alpha q_1 \quad (3.11)$$

$$a_2^2 - 4a_3 = \alpha q_2 + \frac{\alpha(\alpha - 1)}{2} q_1^2 \quad (3.12)$$

$$-3a_4 - 10a_2^3 + 12a_2a_3 = \alpha q_3 + \alpha(\alpha - 1)q_1q_2 + \frac{\alpha(\alpha - 1)(\alpha - 2)}{6} q_1^3 \quad (3.13)$$

From (3.3) and (3.6), we find that

$$p_1 = -q_1 \quad (3.14)$$

and

$$a_2 = \alpha p_1 \quad (3.15)$$

Now, from (3.4) and (3.7) and (3.10), we get

$$a_3 = \alpha^2 p_1^2 + \frac{\alpha(p_2 - q_2)}{4} \quad (3.16)$$

Also, from (3.5) and (3.8), we find that

$$a_4 = \frac{2\alpha^3 p_1^3}{3} + \frac{\alpha(\alpha - 1)(\alpha - 2)p_1^3}{18} + \frac{5\alpha^2 p_1(p_2 - q_2)}{8} + \frac{\alpha(\alpha - 1)p_1(p_2 + q_2)}{6} + \frac{\alpha(p_3 - q_3)}{6} \quad (3.17)$$

Thus, we can easily establish that

$$|a_2a_4 - a_3^2| = \left| -\frac{\alpha^4 p_1^4}{3} + \frac{\alpha^2(\alpha - 1)(\alpha - 2)p_1^4}{18} + \frac{\alpha^3 p_1^2(p_2 - q_2)}{8} + \frac{\alpha^2(\alpha - 1)p_1^2(p_2 + q_2)}{6} + \frac{\alpha^2 p_1(p_3 - q_3)}{6} - \frac{\alpha^2(p_2 - q_2)^2}{16} \right| \quad (3.18)$$

According to Lemma 2.2 and (3.9), we have

$$\left. \begin{aligned} 2p_2 &= p_1^2 + x(4 - p_1^2) \\ 2q_2 &= q_1^2 + y(4 - q_1^2) \end{aligned} \right\} \Rightarrow p_2 - q_2 = \frac{4 - p_1^2}{2}(x - y) \tag{3.19}$$

$$\left. \begin{aligned} 2p_2 &= p_1^2 + x(4 - p_1^2) \\ 2q_2 &= q_1^2 + y(4 - q_1^2) \end{aligned} \right\} \Rightarrow p_2 + q_2 = p_1^2 + \frac{4 - p_1^2}{2}(x + y) \tag{3.20}$$

and

$$\begin{aligned} 4p_3 &= p_1^3 + 2p_1(4 - p_1^2)x - p_1(4 - p_1^2)x^2 + 2(4 - p_1^2)(1 - |x|^2)z \\ 4q_3 &= q_1^3 + 2q_1(4 - q_1^2)y - q_1(4 - q_1^2)y^2 + 2(4 - q_1^2)(1 - |y|^2)w \end{aligned}$$

therefore, we have

$$\begin{aligned} p_3 - q_3 &= \frac{p_1^3}{2} + \frac{p_1(4 - p_1^2)}{2}(x + y) - \frac{p_1(4 - p_1^2)}{4}(x^2 + y^2) \\ &\quad + \frac{(4 - p_1^2)[(1 - |x|^2)z - (1 - |y|^2)w]}{2} \end{aligned} \tag{3.21}$$

for some x, y, z and w with $|x| \leq 1, |y| \leq 1, |z| \leq 1$ and $|w| \leq 1$. By using (3.14), (3.15) and (3.16) in (3.13) and applying triangle inequality, we have

$$\begin{aligned} |a_2a_4 - a_3^2| &= \left| -\frac{\alpha^4 p_1^4}{3} + \frac{\alpha^2(\alpha - 1)(\alpha - 2)p_1^4}{18} + \frac{\alpha^3 p_1^2}{8} \left[\frac{4 - p_1^2}{2}(x - y) \right] \right. \\ &\quad \left. + \frac{\alpha^2(\alpha - 1)p_1^2}{6} \left[p_1^2 + \frac{4 - p_1^2}{2}(x + y) \right] \right. \\ &\quad \left. + \frac{\alpha^2 p_1}{6} \left[\frac{p_1^3}{2} + \frac{p_1(4 - p_1^2)}{2}(x + y) - \frac{p_1(4 - p_1^2)}{4}(x^2 + y^2) \right. \right. \\ &\quad \left. \left. + \frac{(4 - p_1^2)[(1 - |x|^2)z - (1 - |y|^2)w]}{2} \right] - \frac{\alpha^2}{16} \left[\frac{4 - p_1^2}{2}(x - y) \right]^2 \right| \\ &\leq \frac{\alpha^4 p_1^4}{3} + \frac{\alpha^2 p_1^4}{12} + \frac{\alpha^2(\alpha - 1)(\alpha - 2)p_1^4}{18} + \frac{\alpha^2(\alpha - 1)p_1^4}{6} + \frac{\alpha^2(4p_1 - p_1^3)}{6} \\ &\quad + \frac{(7\alpha)\alpha^2 p_1^2(4 - p_1^2)}{48}(|x| + |y|) + \frac{\alpha^2 p_1(4 - p_1^2)(p_1 - 2)}{24}(|x|^2 + |y|^2) \\ &\quad + \frac{\alpha^2(4 - p_1^2)^2}{64}(|x| + |y|)^2 \end{aligned} \tag{3.22}$$

From Lemma 2.1, since $p \in P$, we obtain $|p_1| \leq 2$. Letting $p_1 = p$, we may assume without restriction that $p \in [0, 2]$. Thus, for $\gamma_1 = |x| \leq 1$ and $\gamma_2 = |y| \leq 1$, we obtain

$$|a_2a_4 - a_3^2| \leq T_1 + T_2(\gamma_1 + \gamma_2) + T_3(\gamma_1^2 + \gamma_2^2) + T_4(\gamma_1 + \gamma_2)^2 = F(\gamma_1, \gamma_2)$$

where

$$T_1 = T_1(p) = \frac{\alpha^4 p^4}{3} + \frac{\alpha^2 p^4}{12} + \frac{\alpha^2(\alpha - 1)(\alpha - 2)p^4}{18} + \frac{\alpha^2(\alpha - 1)p^4}{6} + \frac{\alpha^2(4p - p^3)}{6} \geq 0$$

$$T_2 = T_2(p) = \frac{(7\alpha)\alpha^2 p^2(4 - p^2)}{48} \geq 0$$

$$T_3 = T_3(p) = \frac{\alpha^2 p(4 - p^2)}{24}(p - 2) \leq 0$$

$$T_4 = T_4(p) = \frac{\alpha^2(4 - p^2)^2}{64} \geq 0$$

We now need to maximize $F(\gamma_1, \gamma_2)$ in the closed square $\mathbb{S} = \{(\gamma_1, \gamma_2) : 0 \leq \gamma_1 \leq 1, 0 \leq \gamma_2 \leq 1\}$ for $p \in [0, 2]$. Thus, we must investigate the maximum of $F(\gamma_1, \gamma_2)$ according to $p \in (0, 2), p = 0$ and $p = 2$ taking into account the sign of $F_{\gamma_1\gamma_1}F_{\gamma_2\gamma_2} - (F_{\gamma_1\gamma_2})^2$.

Firstly, we let $p \in (0, 2)$. Since $T_3 \leq 0$ and $T_3 + 2T_4 > 0$ for $p \in (0, 2)$, we can conclude that $F_{\gamma_1\gamma_1}F_{\gamma_2\gamma_2} - (F_{\gamma_1\gamma_2})^2 < 0$. Thus, the function F cannot have a local maximum in the interior of the square \mathbb{S} . Now, we investigate the maximum of F on the boundary of the square \mathbb{S} .

For $\gamma_1 = 0$ and $0 \leq \gamma_2 \leq 1$ (similarly to $\gamma_2 = 0$ and $0 \leq \gamma_1 \leq 1$) we obtain

$$F(0, \gamma_2) = G(\gamma_2) = T_1 + T_2\gamma_2 + (T_3 + T_4)\gamma_2^2$$

Case 1. Let $T_3 + T_4 \leq 0$. In this case for $0 < \gamma_2 < 1$ and any fixed p with $0 < p < 2$, it is clear that $G'(\gamma_2) > 0$ and therefore we can say that $G(\gamma_2)$ is an increasing function. Hence, for fixed $p \in (0, 2)$, the maximum of $G(\gamma_2)$ occurs at $\gamma_2 = 1$ and

$$\max \{G(\gamma_2)\} = G(1) = T_1 + T_2 + T_3 + T_4 .$$

Case 2. Let $T_3 + T_4 < 0$. Since $T_2 + 2(T_3 + T_4) \geq 0$ for $0 < \gamma_2 < 1$ and any fixed p with $0 < p < 2$, it is clear that $T_2 + 2(T_3 + T_4) < T_2 + 2(T_3 + T_4)\gamma_2 < T_2$ and so $G'(\gamma_2) > 0$. Hence, for fixed $p \in (0, 2)$, the maximum of $G(\gamma_2)$ occurs at $\gamma_2 = 1$ and

$$F(\gamma_1, \gamma_2) = F(0, 1) = G(1) = T_1 + T_2 + T_3 + T_4 .$$

For $\gamma_1 = 1$ and $0 \leq \gamma_2 \leq 1$ (similarly to $\gamma_2 = 1$ and $0 \leq \gamma_1 \leq 1$) we obtain

$$F(1, \gamma_2) = H(\gamma_2) = T_1 + T_2 + T_3 + T_4 + (T_2 + 2T_4)\gamma_2 + (T_3 + T_4)\gamma_2^2$$

According to the above cases of $T_3 + T_4$, we get

$$\max \{H(\gamma_2)\} = H(1) = T_1 + 2T_2 + 2T_3 + 4T_4 .$$

Notice that, $G(1) \leq H(1)$ for $p \in (0, 2)$, therefore maximum $F(\gamma_1, \gamma_2) = F(1, 1)$ on the boundary of the square \mathbb{S} . Thus, the maximum of $F(\gamma_1, \gamma_2)$ occurs at $\gamma_1 = 1$ and $\gamma_2 = 1$ in the closed square \mathbb{S} .

Let $\Phi : (0, 2) \rightarrow \mathbb{R}$

$$\Phi(p) = \max \{F(\gamma_1, \gamma_2)\} = F(1, 1) = T_1 + 2T_2 + 2T_3 + 4T_4 \quad (3.23)$$

Substituting the values of T_1, T_2, T_3 and T_4 into the function $\Phi(p)$ given by (3.18), we get

$$\Phi(p) = \frac{\alpha^2}{144} [(56\alpha^2 - 42\alpha + 1)p^4 + (168\alpha - 24)p^2 + 144] .$$

Let

$$P = 56\alpha^2 - 42\alpha + 1, \quad Q = 168\alpha - 24, \quad \text{and} \quad R = 144 .$$

Then, since

$$\max_{0 \leq t \leq 4} (Pt^2 + Qt + R) = \begin{cases} R & \left(Q \leq 0; P \leq -\frac{Q}{4}\right), \\ \frac{4PR - Q^2}{4P} & \left(Q \geq 0; P \leq -\frac{Q}{8} \text{ or } Q \leq 0; P \geq -\frac{Q}{4}\right) \\ 16P + 4Q + R & \left(Q > 0; P \geq -\frac{Q}{8}\right). \end{cases} \quad (3.24)$$

Thus, we have

$$|a_2a_4 - a_3^2| \leq \frac{\alpha^2}{144} \begin{cases} 144 & \left(0 < \alpha \leq \frac{1}{7}\right), \\ \frac{1008\alpha^2 - 4032\alpha}{56\alpha^2 - 42\alpha + 1} & \left(\frac{1}{7} \leq \alpha \leq \frac{21 + \sqrt{889}}{112}\right), \\ 896\alpha^2 + 64 & \left(\frac{21 + \sqrt{889}}{112} \leq \alpha \leq 1\right). \end{cases}$$

This completes the proof of Theorem 3.1. ■

For $\alpha = 1$ in Theorem 3.1, we obtain the coefficient estimate given by the following corollary.

Corollary 3.2. [6] Let $f(z)$ given by (1.1) be in the class S_Σ^* . Then

$$|a_2a_4 - a_3^2| \leq \frac{20}{3}$$

Acknowledgement

The work is supported by the grant GUG0140-1/2017.

References

- [1] Altinkaya Ş. and Yalçın S., *Faber polynomial coefficient bounds for a subclass of bi-univalent functions*, *Comptes Rendus Mathématique*, **353**, (2015), 1075–1080.
- [2] Brannan D.A. and Clunie J.G., *Aspects of contemporary complex analysis*, Proceedings of the NATO Advanced Study Institute held at the University of Durham, Academic Press, New York, London, 1980.
- [3] Brannan D.A., Taha T.S., *On some classes of bi-univalent functions*, *Studia Universitatis Babe–Bolyai. Mathematica*, **31**(2), (1986), 70–77.
- [4] Çağlar M., Deniz E. and Srivastava H.M., *Second Hankel determinant for certain subclasses of bi-univalent functions*, *Turk. J. Math.*, **41**, (2017), 694–706.
- [5] Çağlar M., Orhan H., Yağmur N., *Coefficient bounds for new subclasses of bi-univalent functions*, *Filomat*, **27**, (2013), 1165–1171.
- [6] Deniz E., Çağlar M. and Orhan H., *Second Hankel determinant for bi-starlike and bi-convex functions of order β* , *Applied Mathematics and Computation*, **271**, (2015), 301–307.
- [7] Duren. P. L., *Univalent functions*, Springer-Verlag, New York, Berlin, Heidelberg, Tokyo, (1983).
- [8] Fekete M. and Szegő G., *Eine Bemerkung uber ungerade schlichte Funktionen*, *J. London Math. Soc.*, **8** (1933): 85–89.
- [9] Hamidi S.G. and Jahangiri J.M., *Faber polynomial coefficient estimates for analytic bi-close-to-convex functions*, *J. Comptes Rendus Mathématique*, **352**, (2014), 17–20.
- [10] Kanas S., Kim S.A. and Sivasubramanian S., *Verification of Brannan and Clunie’s conjecture for certain subclasses of bi-univalent function*, *Ann. Polon. Math.*, **113**, (2015), 295–304.
- [11] Lewin M., *On a coefficient problem for bi-univalent functions*, *Proc. Amer. Math. Soc.*, **18**, (1967), 63–68.
- [12] Libera R.J. and Zlotkiewicz E.J., *Coefficient bounds for the inverse of a function with derivative in P* , *Proc. Amer. Math. Soc.*, **87**(2), (1983), 251–289.
- [13] Noonan J.W. and Thomas D.K., *On the second Hankel determinant of areally mean p -valent functions.*, *T. Am. Math. Soc.*, **223**, (1976), 337–346.
- [14] Orhan H., Deniz E. and Raducanu D., *The Fekete-Szeg problem for subclasses of analytic functions defined by a differential operator related to conic domains*, *Comput. Math. Appl.*, **59**, (2010), 283–295.

- [15] Srivastava H.M., Bulut S., Çağlar M. and Yağmur N., *Coefficient estimates for a general subclass of analytic and biunivalent functions*, *Filomat*, **27**, (2013), 831–842.
- [16] Zaprawa P., *On the Fekete-Szeg problem for classes of bi-univalent functions*, *Bull. Belg. Math. Soc. Simon Stevin*, **21**, (2014), 169–178.
- [17] Zaprawa P., *Estimates of initial coefficients for bi-univalent functions*, *Abstr. Appl. Anal.*, **2014**, (2014), 357–480.